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Note :
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Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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1 HEH TH F A AR |
_ Attempf All questions.
vt g IS |
Section ‘A" |
(@S ‘=)
State whether the following are Ture or False (Do any five) : 5
frfafed 4 @ =78 9@ @ s € (FE dta i)
(i) Logic is the study of methods for evaluating argumenté.
T I B qeiE B owgh w1 s ¥

P.T.O.
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(2) L

(i)  ‘All women are politicians’ and ‘some women are politicians’ are contrary to each

other.
st fordl THIfE ¥ T ‘e ToRtE AR G @
fauda § "
(iii) Cont_rapositioﬁ of the I proposition is valid.
1 wfaefa & yfaufeds a9 §
'(iv) The universal propositions don’t have existential import.

Teledt wfoafedl w1 e dedd T e ¥

(v) In the proposition ‘Some students are players’ both subject and predicate terms

are distributed. _
‘o foedl feardt ¥ 3@ whefa § R w@ i w 36 A
T |
(vi) A valid argument can have true premises and false conclusiQn.
T 99 g B SURIEd G Ud TTEY oue @ ha ¥ |
(vii) A syllogism always has two premises.
T iR #6341 SERe B % |
(viii) AAA is a valid mood in Figure I.
TFE 1 AAA T A9 A (@) ¥
Fill in the blanks (D;) any five) : | - 5

f @ = gfd S (8 are FNY) -

()  Conversion is .........ceeeevvveecvrennens inference.
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( 3) : 243
(i1) In categorical syllogism when both the premises are universal and conclusion is
particular there is .......ccccccevivcnicienncns fallacy. _
T PR =gl 3 @ S sTuRer dded! 8 @ e siverdt
| D a9 B ¥ '

(i) Middle term must be .......coveverrieeieeennne in syllogistic argument.
w TRy Wﬂgﬁﬁ 3 IIW‘ TE e AT
(iv) AEE is et mood in Figure IL
AEE & I E: SR Y
(v) The obverse of I proposition is ...........cceeeerecerveenecs
I Sfaafa @1 gRpadn e 3
(vi) The standard form of ‘Few mangoes are not yellow’ is ......ccccevverecverennnnen .
‘I o T Tl R W IS SRR B s |
(vii) Cpnversioﬁ of ..... B proposition is not valid.

Answer briefly (Do any fen) : _ 20
Hig@ W Efy (PR @ Hifm)
(d  Explainthe aifference between Sentence and Proposition.
Cleo iG] Fﬁﬁﬁﬂ & 9 & IR FHIWT |
@ity Why the conversion of ‘A’ is ‘I" ?
‘A’ 1 I T Fb A T2

P.T.O.
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(#iii) Define thevvfallacy of illicit major. |

Y W dw A df Hi
(iv) Define dgductive reasoning. | .

[BULEIREES vgf‘aa &1 Ry <ifs
(v) State the obi/érse-of: ‘No organic comppunds are metal’.
(vi) Stafe the converse of ‘No saints were martyrs’. |

FE W e T 4 1 gEw wReRh 9w |

(vii) What do you understand by immediate inference ?

FHAfEd SIAM ¥ SUH N AT § 2

(viii) When the ‘I’ proposition is true what is the truth value of corresponding A proposition

and why ?

S9 1 YRl we B R A A wfwia W oa wem e o
R b ?

(ix) What is the significance of middle term in the categorical syllogism ?
@ﬁﬁamgﬁaﬁnmqamwm@m% ?
(x) Why O proposition cannot be converted ?
O wfafa &1 ofted w78 @ ¥ 2
(xi) Is AEO a valid Mood in First Figure ?
F YYH MHid H AEO Th ay a1 § 2
(xii) What do you understand by Quality and Q;.lantity of a Prdpositio;l ?

. wﬁaﬁ@mﬁmﬂmwwg%?
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(xiii) Name the four opposition relation explained by the Traditional Square of

Opposition. .
W faly @GR et W fy wE % W e |
(xiv) Reduce into standard form : |
fefafea & afes smer dfs .
(@) Logic students argue with facility.
W & el gEEER TF et R ¥
(b) Few mathematicians are scientists.

I e e § |

(xv) Give the contradictory of the following :
frfafed & =mfas w0 s -
(@) Some books are expensive.
B [Wh T Bl §
(b) All soldiers are brave.
ot IfrF T ¥ |
Answer any three questions : ' BT
Freffefan & 9 =4 dm F .
(a) Define ﬁgures and mood in categorical syllogism. Give illustrations.
W%W'ﬁmwwﬁwwm | SRR ST |
(b) Explain and illustrate the rules of conversion.
e & e #t Semw dfed omen i |
P.T.O.
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(c) How the modern approach to opposition of proposition is a jolt to the Traditional
square of opposition ? Explain.
e oy @t & fau snyfte v@ ffa YR T @ed § 72 e
wifsT 1

(d) Can avalid categorical syllogism have a term distributed in conclusion but undistributed
in premise. Explain with example.

wwéaﬁvﬁwmﬁmﬁawﬁwﬁﬁm@ﬁxwa@‘
A s g, W@W%7WWWW

(e) erte a note on Distribution of Terms.

W # fd | o feult fafew |
Put any one of the following into standard' form categorical syllogism and indicate its figure
and mood : . 4+1+1=6

ﬁﬂ%ﬁ@ﬁﬁ@%@@gﬁaaﬁmwmﬁﬁamﬁqﬁaﬁh
FHIT T IHH! SFA T TG qART

(@) No musicians are astronauts; all musicians are baseball fans; consequently no astronauts

are baseball fans.
P o el e T T T e et 3 v § frda:
FE Wt Ry It Ausld & YvigE TE S
Or
(sre)

(b) No mechanics are writers and some photographers are writers. Thus some photographers
are mechanics. |
W ft AR TE® T § A9 HS I EF o 8, O HH  BIRITH
Tk ¥
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Test the validity and invalidity of any rwo of the following : ' 2+2=4
Frafefad 3 & foel @ 91 Suayerivar =1 T R
() AAA-3 |
(i) IEO-4
@iy 1AI-2.

Section ‘B’

. ‘ | (@vg ‘@)

Identify and explain the informal fallacies committed in the following passages (Do any

five) : 10

ﬁwﬁrﬁwmﬁﬁﬁwﬁmaﬁn@ﬁq@mﬁm(ﬁéw
HIST)

(@) Each player of this cricket team is an excellent athlete. Therefore the team as a whole

is excellent.

@wwmwmwmw%m el
qERA T I

(b) Napoleon became a great emperor because he was short.,
N Th WeM TR T H®iE IqH BT B AN |

(c) Noted cricketer Sachin Tendulkar recommends that you buy MRF tyres. So we should
buy MRF tyres.

faema fhdhet afem g # geme § % o1 MRF @R @ s @
MRF TR & &l =fey

P.T.O.
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(d) Have you finally started taking your studies seriously ?

I TN O SO TeE i e @ o e w fm 2

(e) The object of war is durable peace, thus, soldiers are the best peace makers.

| %wmmm%m‘:wmmmmm% !
(f/ Listen to my commands; otherw1se you will be behind the bars

ﬁiaﬁﬂﬁgﬁmm@w@a}“%w@ﬁl

(g) Can you send a person to jail, the father of five children who lost their mother only

two weeks ago.

N AT TH AR F AT B OGS Fha €, S G s w
I e R R T e e O

Explain and illustrate any fwo of the following : ’ _ 10

ﬁﬂﬁf@ﬁﬁﬁﬁmﬁa‘rﬁ@ww@m Hifeq

(@) Complex question
o GRA

(b) Argument from Ignorance
SHAYA®  dhard

(c) Fallacy of Composition.
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